ARBETSBLAD 24 L GrundVux 2

Del av antal

1
1 —av80kr=
2

1
2 g av 21 korsbar =

1
3 Z av 20 hiastar =

1
4 Eav 150 euro =

5 %av 18 bullar =

6 L av250 kg =
10

2
7 5 av 9 bilar =

3
8 1 av 8 trojor =

9 g av 48 liter =

2
10 A av 25 faglar =

" % av 42 ballonger =

5
12 gav32 ton =

3
13 5 av 54 tulpaner =

4
14 A av 30 dpplen =

15 %av72mil=
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ARBETSBLAD 24 L GrundVux 2_

Del av antal

40 kr

7 korsbar
5 hastar
30 euro

3 bullar
25kg

6 bilar

6 trojor
40 liter
10 faglar
24 ballonger
20 ton
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18 tulpaner
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24 applen
27 mil
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